N of reco track vs dxy

%)
X
3]
@,

=10°

10*

10°

10?

P T T TTI[—TTTTIN T TTTI T TTT—TTTTI—TT

[N of associated (recoToSim) tracks vs dxy

trug tracks
QU

10

i
iy

N of associated (recoToSim) looper tracks vs dxy

=
o
S

duplicate tracks

10

1
—T1-BaSe Brer nasel ok
T Retrainv2 Biter moS

15F--renun

> T I.I
RS

) R
—-25-20-15-10-5 0

N of reco track vs dz

5 10 15 20 25
track dxy (cm)

Ratio

0 10 20

30

track dz (cm)

el ok

1.

-25-20-15-10-5 0 5 10 15 20 2

track dxy (cm)

[N of associated (recoToSim) tracks vs dz_]

trug tracks

10

track dz (cm)

10 20 30

| SR | ™ Lot
-25-20-15-10-5 0 5 10 15 20 2
track dxy (cm)

s

track dz (cm)

=30 -20 -10 O 10 20 30

o

—25-20-15-10-5 0 5 10 15 20 25

track dxy (cm)

| N of associated (recoToSim) looper tracks vs dz |

duplicate tracks

i
(=)

-30 -20

-10 0 1 20 30
track dz (cm)



	Contents
	Page 1


